
① See HW1 - problem 2(c)

-

W② l = Ly, -1 (m
,
b

(a) f : l -> IR

f(x
,
4x - 1)

= xy2 x =

47 x

(b) f( - 1
,

- 5) = - /7

f(2 ,7) = 2/7

te= [(x ,y)fH))(x-2)+ y = 5)
P = (2 , 5) and

Q = (- 1 , 4)

acas-/r(is)-lEll(cl
-

=1...



④ l = (55
,
0

= E(x ,z))y = 55x]
↑
m = 55 + /m =

14= 2-
f : r + IR

f(x , y)
= 2x

f(0) = f(1 ,5)
= 2 : 1

= 2

f(a) = f(- 1 ,-5) =
- 2

want g(P1= 0
and y (a) 0

.

Set g(x ,y) =
- [f(x,y) - f(0)]

= - f(x ,y) + 2
= - 2x+ 2

Sos q(P)
= g(1 ,5)

= -2(1) + 2
= 0

q(a) = g(- 1
,
-5) = - 2)-1) +2

= 4-0
.



⑤
# See HW1 - problem 8

.

⑬ See HW 2-problem 8 .

--

⑥ Suppose &
,
&12 contain two or more points.

Let 4
,
QERi Mlz where P FQ .

Since we are in an incidence
geometry

E->

there exists a unique line
PQ

through P and Q.

-

Since P

,
Ge

,
and P

,
QEPA we

must then have li = PG .

-

Since P
,
Q Ede and P

,
QEPA we

must then have le= D .

->

Thus e
,

= 12 = Pa -


